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org.junit.jupiter.apl.Assertions.=* assertEquals( .getBalance())

CardTest .updateBalance(

assertEquals|( .getBalance())
Card

Card

Card

etCara_num( Card
Card

Card

Card

Card

Card
Card assertEquals( .getBalance

.updateBalance(
assertEquals( .getBalance

.updateBalance(
assertEquals( .getBalance

.updateBalance(

.updateBalance(

@Test assertEquals( .getBalance

getCard_num()
assertEquals( .getCard_num()) .updateBalance(
assertEquals( .getBalance
assertEquals( .getCard_num())
.updateBalance(
assertEquals( .getCard_num()) assertEquals|( .getBalance

assertEquals( .getCard_num()) .updateBalance(

assertEquals( .getBalance
assertEquals .getCard_num
1s( tCard )

.updateBalance(
assertEquals( -getCard_num()) assertEquals ( .getBalance())

Konkuk Univ,




CardF -'“"rru:' 1tTest

getCardTest1()

Code Code(generatedCodeNum, drink_info)

getCardTestZ()

getCardTest3()
ateCodeTest1()

ateCodeTestZ()

Num, drink_info)

card_num =
getCardTest1() {
) Card myCar
(Card card : basicCardlist) {
(card.getCard_num() == card_num)

myCard = card

Konkuk Univ,



@Test
getCode() getDrink()
"tEquals( .getCode
‘tEquals( .getDrink
"tEquals( .getCode
‘tEquals( .getDrink
ertEquals( .getCode
‘tEquals( .getDrink
"tEquals( .getCode
‘tEquals( .getDrink
"tEquals( .getCode |
‘tEquals( .getDrink

tEquals( .getCode
mE.J...L-u_ - ) . )
~tEquals( .getDrink

“tEquals( .getCode _ .
- | “tEquals( .getDrink

“tEquals( .getCode _ .
B : “tEquals( .getlDrink

+Eaunle( .getCode - i
tEquals( getCode “tEquals ( .getDrink
"tEquals( .getCode “tEquals ( .getDrink

Konkuk Univ,



3. 7 HAE

4. CodePayment

Test Results

CodePaymentTest

codeFayment()

Konkuk Univ,



3. % HlA

@Test

selectOtherDrink() {
= OtherDVMs ()

5. Controller

DVM currentDVM2 = .qetDVM( )

Drink selected_drink = currentDVM2.getDrink_list().get(2)

ArraylList<DVM> accessible DVM_list = .checkOtherDVMsStock(selected_drink, currentDVM2)

assertEquals( accessible_DVM_list.size())

DVH testOVM =

cur "'Eﬂt_f't': CK DVM currentDVM3 = .getDVM( )
Drink selected_drink2 = currentDVM3.getDrink_list().get(12)
Ar‘r‘chNtcE"wH:» accessible_DVM_list2 = .checkOtherDVMsStock(selected_drink2, currentDVM3)
_ assertEquals( accessible_DVM_list2.size())
testDialNum = DVM testDVM2 = .getDVM( )
o DVM testDVM3 = .getDVM( )
b o 1_ — |1_ r | mpu— I'-I-n--l: ”- uu-l.- l ": ].l -I.- ' t tﬂl"l: ll.-.l.ln.-” -I: t DVM testDVMé = .qetDVM( )]
TEE‘ [ ResUlls 33 M5 R DVM testDVME = .getDVM( )
T'E t 1- ArrayList<DVM> access_test_list = ArrayList<>(Arrays.asList(testDVM2, testDVM3

testDVMé, testDVM8))

b ControllerTest

testDialNum =

selectCurrentDrink()

assertTrue( testDialNum>=8 && testDialNum <=20)

snerent ctnrk = DVM currentDVM = .getDVM( )
- | I'\.-'\.- ' .: 1: -.'-I.-I'\.-I'\.-{ = alarted drin - an M ne 1R 1 o o 1a1M
”.-I 5 E .-|-|:E| ad 2' | - selected_drink = currentDVM.getDrink_list().get(testDialNum-1)

- L | N - ieta A R n(ealacted dein aatNama
- ntFEnnnd e { PTT ctn i System.ouvt.println(selected_drink.getName())
: ~ (5561 T""|"'|'l|'5" =" accessible DVM_list = .checkOtherDVMsStock (selected_drink,currentDVM)

E. ElE Et'jth E i-E: ’”'-I I{l_-_l assertEquals(access_test_list,accessible DVM_list)

insertCard)

insertCard() {

estCardMum =

est_card_avail = .getCard_availilable(testCardNum)
assertEquals( test_card_awvail)
Card = ard jetCard(Ct tCar
assertEquals tCard.getB nce ()

dnsertCard2()
= OtherDVMs ()

Muwm )

—
Lara

estDrink)




5. Controller

Test Results
ControllerTest
checkCodeavailable()
selectDVM()
enterCode()
getCodelnfo()
deleteCode()

startService()

[Test
enterCode() {
OtherDVMs()
Drink(

Orink testDrink = .codePayment(testCode)

assertEquals( testDrink.getName())
testResult = requestDrink(testDrink
tEquals( testResult)

String
assertho

@Test
deleteCode() {
Arraylist< >()
rink Drink(
estDrink)
testDrink)

m ® O O
M O— O O
o
(40
~

g

testCodeN
(Code code
(testCodeNum == coc
W

. remov

.size())

selectDVM() {
testNum = 1]
= testNum-
= OtherDVMs()
DVM testDVM = .getDVM(
system. .println(testDVM.getId())
assertEquals( estDVM.getId())

[@Test
getCodeInfo() {
Arraylist< >()
Drink(
esthrink)
testDrink)
.add(testCode2)

de.getCode() == tect odeNum) {
assertEquals(

@Test
checkCodeAvailable() {
Drink testDrink = Drink(
Code testCode = Code( estDrink)

—

.add(testCode)

testCodeNum =
(Code code : ) {
als(testCodeNum,code.getCode())

startService() {
= OtherDVMs()
testDVMListSize =

dvmList = .getDVMList ()
stDVMListSize,dvmList.size())

i<dvmlList.size(); i++){
APPeyLlc t<Integer> std = Arraylist<
assertEquals(i,dvmList.get (i) .getId())
dvmList.get(i).getId())
als(testAddress,dvmlList.get(i).g

—
=
—
=

ess())

Konkuk Univ,




1

[
L

getName

r
L

=

Lo L

e

P
L

me

=
O

geth
getimglURL{

L

ST T e,
55ei 1:|_L|L-Ll!.-\":

L

Pl
L

al
L

IC

etPi
etStockn

d
d

L

LCcquiiL

S

aO5sei

t

Fa
L

updateStock

ImgURL()

get

Fa
L)

getStock




Test Results
DVMTest

makelLocationRespons

makelocationRespons sageTestZ() ' <)

Mak

responselLocationM
responselocationM
updateStockTest1()
updateStockTest. address

. ms i%_t'_-r-'p A =
I:1 EI t|'l:llu |.j I.j I"e EI. -

getDrink_listQ

drinkArraylist

assertEqual rink_list.getClass(),Arraylist.

assertEquals(drink_list (8).getClass(), Drink.

Konkuk Univ,



Test Results
MessageTest

getMsg()

EIEEtEP"I1 i:i.'i_';gEl:': @Test
getMsg_type()
gEtDEt_idl:'l Hessage msg2 =

[

wecaptEann
Ssertcqua

getMsg_type()
getSrc_id()

e Pl
CreateMessage()

%

a0a0d

LA L]
il

Ny

B

1
L.
EREn
I
e

! \‘\ Wil

f
"

il el

-
[

f

.

-
\
-

|
:

;
iy

e e e
-

75 7
j 2100008
L

100 'l 10

il

|
o
:

f
"

el s
|

i
h

Konkuk Univ,




@Test
handle

Konkuk Univ,



Controller()

OtherDWVMs

v @ 1z 1=
hd Test Results
CtherDVMsTest
checkOtherDVMsStockTest)
getDVMListTest()

. . — n dvmList.size())
AccessibleDVMsLocationTest() hmList.sizel))

- e - - .. dvmList.get(dvmList.size() - 1).getId())
checkCurrentDVMsStockTest()

=

requestDrinkTest()

checkCurrentDVMsStockTest () {
Irink drink = Drink(

VM currentDVM

el Ty . currentDVM)

sStockTest() {

Drink(

OtherDVMsStock(drink, currentDVM)

Konkuk Univ,



4. Al

>

@ HZEE

1

10

11

12

13

14

15

16

17
18
19

20

Select drink test

Proceed Card-Payment test

Check current machine stock test

Check other DVMs stock test

DVMs location test

Make code test

Enter code test

Check code test

Check drink test

oX,
%
™
N
N
N
=
i
o2
St
o,
il
L)
i,
rlr
N
i
ro,
rot
v

Fhee) ool SR un

i
Y
N
—_
2
o2
)
rir
DY
A
rO
o
By

FF=O] Rolo] HEY A9 e R W AAE FHFEA
el gt

=3t uf] A 17} F=8)hE 1 A

OE A7) 9] Auk 25 2 | A gelo] F s of
FoA = &1

A7} o= AR7] e AXE SuteA et A #A T
ot

ddo 2 AYE JATIET V& AT AES} THEHA
e AT

Konkuk Univ,



=1 | -
— O 4
= — O >
1.23122 N 2mu 20 @ .E4A00 {g 4ATPOIE 33 S5.&E2AX —
15008 (1074) 15008 (1174) & 15008 (0H) 15008 (1094) 34 15008 (874)
1.232ch vy 2Z2A=d \@ 3.2 N0 Lk E’ﬁ 4 24ck0|= 5 SH.EE=2AT
ﬁ 15002 (94) i 15008 (1120) W& 15008 (04) 15003 (10M) == 15003 (BM)
6.&ETE ﬁ T84 A | s.ME= ! 9.2AHEYA 10.% @A
15008 (17H) 1500& (10%4) M 15008 (074) 15008 (07)) 1% 15002 (07H)
.‘g MEFZY2HE 2 12ASH0 g 13MROOIE 5= 142312 15. 8 A4 H| ﬁ 6.2EILLE E (B & Fe A g.dt= ! s.22HE3SS 10.%84
1500 (0) @ 15002 (o) 15008 (070) % 15008 (03H) 15003 (074) ME'E-E-EEIE' bt 15003 (1M) 15003 (10.4) - 15003 (0M) 15008 (0M) 1 15003 (0M)
@ <22 3N 22>
16.AM2Y El 17.HIZ2AY g 1822k o 19.017% 2t 20.0:2EIR :
15008 (031) 3 15002 (07H) nJ 15002 (09H) 'fj 15002 (094) 15008 (07H) 7 i &8 = DVM: DVM1 i k2l = 2=
AN =2 X2 g M.EH}cCIZHE = 12A=d0| g 13IHHH0OIE 5 142232 15.¢ll 2 H|
= = st 15002 (0-M) H 15003 (0M) 15008 (0) % 15008 (024) 15003 (0M)
=k I=:15003
=N F L &4 85003
OK % 16.AM28 gl 17.HI2 A ﬂ 18.22) .fj 19.01 73 2 20.H2EIR
T& 15008 (00) £ 15003 (00) & 15008 (074) 15003 (0H) 15003 (0M)
1 2 3
4 5 6
20
7 8 g
0 —

Konkuk Univ,



4. A|AEIHAE

— 1
AT O] BRAH | Of OF SF . A1
> Sl HE F3E00F -85
EX — O >
Message X
ﬁ] 1.2 @t Y 2mAED & 3.aSN0I0 4AADPOIE B S5.&E2AIX)
15002 (1070) K&l 15008 (1120) & 15008 (0H) 15008 (1001) =4 15008 (87H)

=
g iamas 73 g sace g sesusws e mess '\D BSE 22 UUNSUIC1-208Y S2E HYHAR

15008 (1°4) 15008 (1074) ‘M 15003 (0H) 15003 (0H) i 15003 (02H)

M.EFEAHME = 12H=30I 2 13.IR0H0IE 5= 14232

- B 15. AHI
15002 (0) £ 15003 (024) 15008 (074) 7% 15003 (03Y)

15003 (02H)

LU

%f 16.2M23 oeea 17.HIS & ﬂ 18. 22| -ﬂ 19.01 T 2t % 20.0HEEIR
T4 15008 (07)  £'3 15002 (00H) <4 1500 (074) H 15008 (07H) 15003 (07H)
22
1 2 3
4 5 6
el
7 8 9
0 —

Konkuk Univ,



3. Jof| &l 7H AL 2 F=o| 25 5[=4A] =

ﬁ 1.2 2.3 022 @ 3.8 4 N0 CH AATP0IE % 5.8 EF2 AT

15003 (1020) 15008 {1120) 15008 (DY) 15008 (1074) =4 15003 (83)

E 6.EEZE i 7.9 &) A N =t ! 9. 2AHEE3 10. % &1 3
15008 (124) 15002 (1074) X 15002 (024) 15002 (074) i 15008 (0M)

E MEFNZAHE ' 12HEH0 & 13.IHRM0IE = 14232 15. 8 A HI

15008 (02Y) £ 15008 {0M) 15008 (0M) % 15008 (02H) 15008 (02W)
ﬁ 16.AM23 |E} 17.HI 24! 5l j 18.28|% .fi 19.01 7+ 2 % 20.0h=EIR
“& 15008 (0W) 245 15008 (00) y 15002 (074) B9 15008 (07M) 15008 (0W)

Konkuk Univ,



4. M| AH HAE

4. NG 7H5TH FHEE Y BICL- 43

il =
= — O =
Message >
,@ <SR TN 22>
- & 8= DVM: DVMA1
THsE E=: DI ch
- . sk J4=:1500&
S 2= T 5ol M.
(42 BS: 1234 1234) =H 2 &) 85003

At27lset7lE HS
12341234 A}

12341224

el

0 — Konkuk Univ,



4. M| AH HAE

5. A8 =75t 7tES /I E L}
-> 28| 21 KA X]7}E

(& —

Message X

£
1) saaneejcAL. 222 S02LC

FE SHBES SHH TR
(3 B 1254 1234

A2 E7lsot 7| E Hs
99999999 A}

9999999949

0 — Konkuk Univ,



4. A|AEIHAE

-1 —
(£ — O b4
H 1.2332 M 2BAN2 @ 3.8 A0
15002 (10%)) W&l 15008 (1120) & 15002 (07

Message o

A c JIE UMMSE LHUF L. @ <SSz TN SF=>
g ona E 1008 | so0m e nE T 0N = 2 = DVM: DVMA

15002 (1 15008 (1094) X 15008 (0
o 1o v THE ==: IS CH

SE rF: 15003
= N = I &) 85003

MEFEAHE & 1205301 & 1308000 -
@ oK

15008 (074) 15008 (020) 1500& (07

BT LT T

: AP 7S, £ 10000 €I
16.A028  [F 17.HEAW  J 1eade JICHS Al
soson b momon d 1s0sud =812 12341234 AL

.LE;.

1 2 3

4 5 G

el

T 8 9

Konkuk Univ,



L] =715

Message

X

o
) SO RIBLICG. 2I|HH2Z SOH2LICH

StE ¢SS 2 2ol M 2.
(23 B=:12341234)

11111111

. A 71s, XHel o3 ¢l
ZIEHS 11111111 AR

Konkuk Univ,



4. A|AEIHAE

8. SIX| XtZt7|o| R D7 HetSHR| SHOISHE}, - A2

1 - L —
| =7|=H8 — 1 W

1.3 ch
15003 (10.H4)

A 2mAED E 3.8 SN0 !ﬁ 4ATT/OIE 3 S5.EEIAT]
il 15003 (1174) M 15003 (004) 15008 (1070) 24 15008 (870)

. Z%| ZI8 & CrA| FO§St DX}
ZHOY £ XY 2 h

P> — O pe

1.2 =k
15003 (9M)

) 2mAED E 3.4 N000 !ﬁ 4ATPO0IE 5@ S.8E2AT
i 15008 (1174) & 15008 (094) 15008 (1024) 34 15008 (87H)

Konkuk Univ,



4. A|AEIHAE

P

9. AR RAHE 7|0 o7t B W X 07t EFSICH= HA|X|E EHSI=X| 2 QIsiCt - 43

= = — —
(& — O X
Message =
1.228 y 2mA 2T @ LAHA0IC [ 4AZTOE [ S5.&ERAX _
15008 (1074) Bl 15008 (1134) & 15008 (074) 15008 (1074) =4 15008 (874) - _ .
o ST DVMO Sl S E=2| ok 2T B GE DVMH Qo EQHELICG. A2 AE SO 2LIC
6.BEEE E 7.4 A | S.HE= i 9.2AEHEY3 10. 8 B4
15008 (17§) 15008 (1000) A 15008 (024) 15002 (07) 13 1500 (07§) OK

B9 15,3 M H

.‘5 MENZAHE 2 12HAEH0 g 13.0HMU0IE ¢ 14232
B 1500& (09)

15008 (0] £ 15008 (07) 1500 (0M) % 15002 (0)

| 12;:,%33?.} “‘Ej :;huul;?ég} ﬂ 1&'&:3%3; -ﬂ :g'utggﬁm} fgh[;:ﬁn?n - — o EH
| XN XHEE7|0fl 07H Q! 108 = M=
10
1 2 3
4 5 ]
2ol
T a8 9
0 —

Konkuk Univ,



4. A|AEIHAE

10. C}2 X7\ Q| R D7 Hets| Mt E| =X| ZQIST) . M2

— — L— o

hMessage pd

,@ HTW YW DVM: 1
AR EZTp: BEHA
E& 31500
HS3W 23} B T000H
2= 317450

Message X
o <ol E S = 20 2= DVM ¥ DVM #X|>
'\D #DVMO 12 S22 JI0 ST e 2 DVMA 2k EWELIG. S AE SOZLIC >

DVM 3: DVM2 | # Xl: 202
0K DVM 3: DVM3 | # Xl: 303
DVM 3: DVM4 | # XI: 404

= DVM 2f: DVMS5 | #%I: 505
Al XHt 7104l 071 2] 10"-:'|_EE ok DVM 2: DVM6 | #{%I: 606
(=)
=3

. CtE pvym | 0 =291l & MZAR DVM 2: DVMT7 | # 71: 707
DVM 20: DVMS | $1 %1: 808

Konkuk Univ,



4. N2 HXAE

= T|lII - O C S S = n
11. L_-l': xHﬂ-7|9| XHT“"_' |¥|_|_I:I|—|._— T| H_l %.I'Ol_lol 7S %I' | O|—,—O'|K| | =120 IO._"El'..-*éI'S
(£ =71312 - b Message b
1.2%=2 ct 2.5 Al 2R C} I 3. gAMoL 4. 2400 = ‘s HEEZAT .-"":
ﬁ 1500& (9.4) 15003 (11.4) & 15003 (0.4) !ﬁ 15003 (10.4) t% 15003 (8.4) | I EE D'UME-I E,IE- Eiﬂ ]l]] EEL—I”. E;I'Iﬂ. EEE Eﬂ'l:..’."l..lu.
6.BEIC E 7.8 A A = 9.2AHCHS 10. %@ &
1500& (1.M4) 15003 (104) 1 15002 (0H) 15008 (0 A& 15002 (0H)

.‘g M.E}NCIAHE ¥ 12HEd0 g 13.IHN0IE 3= 14232

15003 (0H) H 15003 (0M) 15008 (020) % 1500 (024)

15.cll 281
15002 (0H)

2= XpE710f 7 27t Bl
3H S5 ME

16,2023 g 17.HIRAW g 18.&2E .ﬂ 19. 017 2t rm 20.0h2EIR
“E 15008 (071) D 15008 (070) e 15008 (07) ¢ 15002 (0%M) = 15008 (07H)

Konkuk Univ,



4. A|AEIHAE

12. 7 Q= RFEET| O] 91X S SHIE A SSH=X| 2Ol M2

_/ -

hMessage pd

Ty, = | :

I'\.l/'l A= M &8 DVM: 1
daist sz BEHS
=5 J=:1500
=4 &t &u 70003

== D '17450°

<l == TMH = DVM & DVM ¥ x|>
DVM 3: DVM2 | #XI: 202
DVM 3: DVM3 | # XI: 303
DVM 3: DVM4 | # X 404
DVM 3: DVMS | # XI: 505
DVM 3: DVME | ¥ XI: 606
DVM 3: DVMT | # X1: 707
DVM 3: DVME | # XI: 808

M7t EXY5t=
DVM 2| A EQ} 2 K]

Konkuk Univ,



Bl f|AE
= S

A2 A &8 DVM: 1
QIS ES BEHE
SE HF:1500

d=H £ 3 &.: 70003
2= 312796

<l 2 == 70 ot= DVM & DVM # 1>
DVM 3: DVM2 | # XI: 202
DVM 3: DVM3 | # XI: 303
DVM 3: DVM4 | # T]: 404
DVM 3: DVMS | # X]: 505
DVM 3: DVMG | | X]: 606
DVM : DVMT | #X]: 707
DVM 3: DVME | # XI: 808

Message

@ <EZ I 22>
S0 & = DVM: DVM2
FHEt == HEA
=E 15003
IE FHS: 12796

Konkuk Univ,



14. 3 HO| ESHE| = QST ETI AL X7 MZA XS M

A2 A &8 DVM: 1
QIS ES BEHE
SE HF:1500

d=H £ 3 &.: 70003
2= 312796

<l 2 == 70 ot= DVM & DVM # 1>
DVM 3: DVM2 | # XI: 202
DVM 3: DVM3 | # XI: 303
DVM 3: DVM4 | # T]: 404
DVM 3: DVMS | # X]: 505
DVM 3: DVMG | | X]: 606
DVM : DVMT | #X]: 707
DVM 3: DVME | # XI: 808

ddel ASAELr LX|SH=X| =22l
Message .

<EE 70 |=E>
<0 &= DVM: DVM2
2 Ef-1- {:1s
=& 315008
IE FHH: 12796

Konkuk Univ,



A2 W &Y DVM: 1
AR ST BHE
=& J=:1500

d=1 £ 3E &11: 55003
2= I L:'92659

<l g == 70 otS DVM & DVM # 1|
DVM 2: DVM2 | $ XI: 202
DVM 2: DVM3 | # X1: 303
DVM 3: DVM4 | # X]: 404
DVM 3: DVMS5 | # X]: 505
DVM 3: DVMG | ¥ XI: 606
DVM 2: DVM7 | # X]: 707
DVM 3: DVME | # XI: 808

X Al ol =Lt- 8&

P

Vieszage X

@ <EE 7N 22>
T 0f &= DVM: DVM2
o EX=1 1

=& 315008

IC HESE LAUFNEL. IE HHE: 92659
(RE BS= 502 2TBLICH)

OK

/

MME| A E 92659 QU A
T0j 2t=

926589

%o

Konkuk Univ,



4. A|AH HAE

[HE ZES IEZ2X Al B Ho=L
>3 E ZH L7t Liofe - 8-S

(£ =7|5HH — O X

essage X,
Message bt

@ HBF YW DVM: 1
d=2 = S22 REAA @ FSoI w2 2CLLIC. 2ISHS2 SO LI
= FF: 1500

HAT 2 HE 1 40008 (AL BaE 512 2RRILIC) -

2= IE: 50728

<l @ =2 T 00 JH= DVM % DVM #{ 3I>
DVM 2: DVM2 | $1%1: 202

DVM 2: DVM3 / $ £1: 303 48 3 E 507281 CIE
DVM 2: DVMA4 | #%): 404 99999 2= A|

DVM 2: DVM5 | #%): 505
DVM @: DVM6 | #%I: 606
DVM @: DVMT | #%): 707
DVM 2: DVMS | #%I: 808

‘[}H 4 5 5

=el

Konkuk Univ,



4. M| AH HAE

17. 4-det AT gla I TEYEH S A/ Lol =Lt

=
— ol ﬂ
> 8H A7} LIOFet - S5
|&| =731 — O X
WMessage >
£y
1) sstxaeIcALIG 2INSH22 SO0H2LILC

ICHES S

Bol+=Hx. Dl{ \
(RE BSE=54c] = AELICE)

Konkuk Univ,



4. A|AEIHAE

18. S 2 S} X|

[

BSE 2AHWFNR.
BS=5Tel =L

8853348

=l

WMessage >

@ SSON S ICALICGL 2| HPSZ SO LIC

=

Konkuk Univ,



Message

> ZR| AT)7} Lpof &

& - o X
-
d=2 8 & DVM: 1
AR EST: BEHEA
ICHEEAAUFHR.
S5 31500 (TE Bak5Te] ML)
d=8 & 3E &1: 70003
&= I C.'58725
Message x
< > —
<ilE =& F 0 s DVM & DVM # 3> O  E=rnes
DVM 9: DVM2 | # Z]: 202 FHE 22 A
EE H: 15008
DVM 9: DVM3 | # XI: 303 oIS
DVM 2: DVM4 | # 7|: 404
DVM 9: DVM5 | ¥ X]: 505
DVM 9: DVMGE | # XI: 606
DVM 9: DVMT | #X]: 707
DVM 9: DVME | # XI: 808 5 .
OK 5 6
0l
8 ]
0 —

(£ — O
IEBHSE 2HHFAR.
(RE BSE= 502 2TRLLT)
Message >
@ FE0I wE [ceLl 20|22 SOk LI
OK
58725
1 2 3
4 5 6
8¢
7 8 9
0 —

Konkuk Univ,



=27t AEXZE ZR|
(&)
B tsomoom B Tsoom

@ 6EEEE a T84l A
15002 (174) ;

fg M.EFZAHE F 12H0EF0
15002 (07) & 15002 (oW

% 16.AM=2 |ﬁ 17.HI2 A5
¥ < 15008 (0H)

|

Y4 15008 (04) B

15002 (1070) .

-
St

B 324 A0
15008 (074)

| s.HE=
1500 (07H)

13I8 U0IE
15003 (07H)

] 18.29%
15008 (074)

= =2

@ 4ATZDIE

15008 (107) &

! 9.2AHER3

15008 (0N) +

e 14,23 A

% 15003 (03Y)

.fj 19.01 7 2
#1500 (02H)

ol
=

|

Aot=4]

X

5.8E2AT
15003 (87H)

10.% @4
15003 (07H)

B 15.3 40|
1500 (074)

20.02E&
15008 (074)

—h

20

(=1 3¢] ko] I

/ -

.-

o

Message

®

Al
o

<=SE TN 2=>
T 0§ & 8 = DVM: DVMA
THEES=E:. INS T
=& 3315008
=4 £ 3E &1 85008

OK

Konkuk Univ,



5. DvM<{t H E & A E(Stub)

[Stock] BroadCast Message

> Task :Test2.main()

ResopnseBroadCastMessage == src_id: 0, dst_id: 0, msg_type: 2, msg: 0
ResopnseBroadCastMessage == src_1id: 1, dst_id: 0, msg_type: 2, msg: 0
ResopnseBroadCastMessage == src_1id: 2, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 3, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_id: 4, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 5, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 6, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 7, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_id: 0, dst_id: 0, msg_type: 2, msg: 0
ResopnseBroadCastMessage == src_1id: 1, dst_id: 0, msg_type: 2, msg: 0
ResopnseBroadCastMessage == src_id: 2, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_id: 3, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_id: 4, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 5, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 6, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_id: 7, dst_id: 0, msg_type: 2, msg: 10
Message X
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OK

Konkuk Univ,



5. DvM<{t H E & A E(Stub)

[Location] Request Message / Response Message

ResopnseBroadCastMessage == src_1d: 2, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == srec_1id: 3, dst_id: 0, msg_type: 2, msg: 10
ResopnseBroadCastMessage == src_1id: 4, dst_id: 0, msg_type: 2, msg: 10 Message w
ResopnseBroadCastMessage == src_1id: 5, dst_id: 0, msg_type: 2, msg: 10 B
ResopnseBroadCastMessage == src_1id: 6, dst_id: @, msg_type: 2, msg: 10 |® d2H € DVM: 1
ResopnseBroadCastMessage == src_1id: 7, dst_id: 0, msg_type: 2, msg: 10 aslE 82 d=a
ResopnseNormalMessage == src_1d: 2, dst_id: 0, msg_type: 2, msg: 303 BE = 1800

. . ) HA&H F JI= =31: 85008
requestLocationMessage == src_1d: 0,dst_id: 2, msg_type: 2, msg: 303 @ 3. '26955°
ResopnseNormalMessage == src_1d: 3, dst_id: @, msg_type: 2, msg: 404
requestLocationMessage == src_1d: 0,dst_id: 3, msg_type: 2, msg: 404 <o 28 704 7= DVM % DVM # Xl=
ResopnseNormalMessage == src_1d: 4, dst_id: O, msg_type: 2, msg: 505 DVM E: DVM3 / ¥ Xl: 303
requestLocationMessage == src_1id: 0,dst_id: 4, msg_type: 2, msg: 505 DVM E: DVM4 | 5 Zl: 404
ResopnseNormalMessage == src_id: 5, dst_id: O, msg_type: 2, msg: 606 DVM &: DVM5 / % Xl: 505
requestLocationMessage == src_1d: 0,dst_id: 5, msg_type: 2, msg: 606 DVM &: DVME / 4 X: 606
ResopnseNormalMessage == src_1d: 6, dst_id: O, msg_type: 2, msg: 707 LoloTEoe I st
requestLocationMessage == src_1d: 0,dst_id: 6, msg_type: 2, msg: 707 i
ResopnseNormalMessage == src_1d: 7, dst_id: @, msg_type: 2, msg: 808 OK
requestlLocationMessage == src_1d: 0,dst_id: 7, msg_type: 2, msg: 808
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